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Math 9 Enriched: Section 1.1 Introduction to Function Notations

. 5 3x
1. Given the functions, f (x)=3x"—2x and g(x)= —74\ +3, find the indicated values:

) (3)xg(4) i) 2/ (-2)-3¢(2) i) 47(2)x2(-3)

2. Given the functions, f(x)=+/x+3 and g(x)=2x" -1, find the indicated values:
) f(g(x) i ¢(/(x) i 2(f(2(x))) 3
—F(z‘(';‘\—.&w"‘—l—i—% 5 (x+3) = z(ﬁ*s)"—\ 3(12;;( *3):2 fer 1 +5)—‘

=2 (FGe+D)(Hex3) — =2 (Lx"—( 62 + ‘1\ -

-—Z(x—l—bf*"‘\\" = G 412 (- F
= b 28X F =ux a4 zﬁ(
v /(2(3) v 2(£(19)) v g(/(2(9)))
‘)(%\'—2(9"— ( £(9)= (& +3 512 4
=\ =3z 43 4(4‘1\; \o

£33 JGawm): 2 (38 *%)t‘ N 19y

vil £ () vii) g(2(.(25))) ) f(g(/(50)))

’(’(\Fx«—s\s—m x>

3. If f(x) =x" +3x—10, find the value of “x” that will make the expression true:

) f(x)=0 v) f(x)=8 vi) f(x)=-6
X Ay K-1o =2 Nfox 0= 3 K HHYR-1>2 -6
(X 45X -2 XTADR -7 K eIRr N =
eosimzr (AN (o L)(x )70
=-6 x=7 ,K,,,*)q(’/\
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4. Given the graph of f(x) , find the indicated values:

i nf(2)="\ inf()= 3
[iiois
- Q=D
i F i L la il BAE-2 v /(?)=3
KRV | a
i -\g7<h ]

5. i f(x)= x-x+2, g(x)=ax+b,and f(g(x)) =9x” —3x+ 2, determine all possible ordered pairs
(a,b) which satisfy this relationship. ,? (D«x«—\,,\ - (A'x»\b‘-’ (,\Ml.)—(v 2 = Ax"—mx

@ 0\1_; a ® Z;J",a\: -3 =| o 10-\,'1(‘\—\:-—00(’\,“'7—4_ ’\’)\};’X*'L
=13, 0\(’!—‘»"\ .

2hot=t ahotme.  © VTV aT= RN
b- o @ \’l;: j\%\‘

6. If f(x)=2x—1, determine all real values of “x” such that (f(x))_ -3f(x)+2=0

(zm’*y_—’v(Lm—\\-»m——o e

NRT-URE L~ Ay A =0 (7_,,(_,,3(,&_[\@
AR ’lmc“L:"’ \ X~ x=\.
2% —=SKRAYL =25 4
7. Afunction f(\) has the following three properties:
) f(1)=1, i) f(2x)=4f(x)+6, i) f(x+2)=f(x)+12x+]12
Calculate the value of f(6) .
® Ly~ s re @ TOLO n(ee QA ~4fen s

— 4l »((,,\ = )¢ -Gy )+
"9(1/\ —= \o F\‘Vw"‘ = 1°‘°//
\M/W\V'://

Give an example of a function g(\) such that the identity below is true for all values of “x” and “y”

7 g(x+y)=g(x)+g(»)
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9. Given the graph of f(r) , find the value of the following values:

0f(1(3)= DI10)=
fC(%\z\ 4(0\——3
*N=1y foy=1o
fff).f(_I) v)_f(—?]xf(())
. VoD o 3*3 =%
i) f(f(x)=x x=? W (f(f(-2)))
O e e = "N\Ji-m’q\ ey PN
]L = a?wp”’.‘ . z‘;\'ﬁ)’/ \

ONMM WS Y= . =\
A ) QLY J}u\:,\//

10. Let f(x) =2 +9, where “k” is a real number. If f(3)f(6) =1:3, determine the value of

1076 BN @YV g 4 ¢ ERe
Q Syta e £ @D
\< (= K
pets T2 @YY (4%, q 23 (%) 4@13/:_0\
A-O(a+3)=o -\s%

11. The function f(x} has the property that f(2x+ 3) = Zf(x] +3 for all values of “x”. If f((}) =6, what is

the value of f[9)? ’P\%\‘— L_C(e\ 33 _Q (‘\\ - -7_,(:(_5\ Ay
‘ﬁ’ﬁ“— \§ - 3'7?/
7

12. Given the piece-wise function, what is the value of f(f(f(B))] ?
O©LN=¢
o if nis even
f(n)= {n if nis odd S ’Rq\ =16

+1

A=\ =25\

he function “f” is defined for integer values only and satisfies the following:

,f'(n)={fﬂ+2 if n <10

(n=2) ifn =10

Copyright All Rights Reserved to www.BCMath.ca 3

CH 1 HW Page 3



14. Let ¢( )denote the sum of the digits of the positive integer “x” . For example, ¢(8) =8 and
#(123) =1+2+3. For how many two digit value of “x” is ¢(¢(\‘)) =37
a) 3 b) 4 c)6 d) 9 e) 10
éc,x\,— \L —— X= 0\37 3« lH*‘\“"‘ ‘ S¥'K| LL
2\ — wia
20 _= N(a
2 S K= L3S
15. For any three real numbers “a” , “b”, and “c”, with b # ¢, the operation & is defined by:

m((l,b,(') = bL What is the value of ZU(ZU(],Z,3),ZU(2,3,1),{0‘(3,1,2))?
—=C

w(\‘k\g W(Z(S((\ w(?,‘\(z,) w("\\\(’%\

- 2\ N\ ,L-f
= —\ = _
¢ \ P"77// = ,-\./v‘;

16. COMC: Let f(x)=x" and g(x)=3x-8

“w

a. Determine all values of “x” such that f (g (x)) = g (f (

@'F(’m-‘s)-— (-3 ) ® cy(‘»ﬂ«ka S g (XD )=

= R Y3 &L = (s = X x=)
Lf\("\ 2% X gxX X O
3 b. Let h(x)=3x—r , determine all values of “r" such that f(h(2))=h(f(2))

Ol o e @ F(ev)z () © roierses e

1) = R IR e R e L e
W (d) = (e Ce=Dr-3)=
(=¥ \ ‘("'/ —5/

. Find the value of the following:

: J .[2013J
Founnt | ——
2014 “ 2014

17. Challenge: Let f (1) =

2 1 J 2
-’[m)”[m

;/\l
\
‘w
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@E)E7) ¥ )

)F)

BE) FEEIE T
- % (@) 3 2 R

3 7@ 3+ 63

fes - fet)
& F(Z-fM™-

\/

>r‘<- T

@ .. TM = \601:?//
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